CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER #2F ARROWHEAD BASIN DETENTION POND, ELEMENT 302 - PROJECT NO. DR01-1126 NOVEMBER 4, 2004

ORIGINAL CONTRACT AMOUNT: \$481,413.83

CONTRACTOR: LIND-EXCO

LINE		ļ	CURRENT CONTRACT	UNIT	EXTENDED	ADJUSTED	ADJUSTED	
ITEM	DESCRIPTION	UNIT	QUANTITY	PRICE	PRICE	QUANTITY	PRICE	NET CHANGE
	MOBILIZATION	LS	1	\$14,258.76	\$14,258.76	1	\$14,258.76	\$0.00
2	SALVAGE TOP SOIL (EMBANKMENT & SPILLWAY)	CY	8,000	\$0.61	\$4,880.00	\$8,000.00	\$4,880.00	\$0.00
	PLACE TOPSOIL (EMBANKMENT & SPILLWAY)	CY	8,000	\$1.02	\$ 8,160.00	8000	\$8,160.00	\$0.00
4	UNCLASSIFIED EXCAVATION (SPILLWAY & POOL AREA)	CY	59,000	\$0.71	\$41,890.00	59000	\$41,890.00	\$0.00
5	EMBANKMENT COMPACTED FILL	CY	26,200	\$0.62	\$16,244.00	26200	\$16,244.00	\$0.00
6	60" OUTLET STRUCTURE STAND PIPE	LS	1	\$3,570.36	\$3,570.36	1	\$3,570.36	\$0.00
7	60" OUTLET STRUCTURE TRASH RACK	EA	1	\$3,000.00	\$3,000.00	\$1.00	\$3,000.00	\$0.00
8	18" CL2 RCP	LF	12	\$32.30	\$ <u>387.60</u>	12	\$387.60	\$0.00
9	18" FLARED END & TRASH RACK	EA	1	\$1,011.73	\$1, <u>011</u> .73	1	\$1,011.73	\$0.00
10	48" CL4 RCP	LF	205	\$118.73	\$24,339.65	205	\$24,339.65	\$0.00
11	48" FLARE END,&TRASH RACK	EA	1	\$2,446.55	\$2,446.55	1	\$2,446.55	\$0.00
12	10'X 8' CONCRETE BOX	LF	170	\$500.00	\$85,000.00	170	\$85,000.00	\$0.00
13	BOX END SECTION, 10X8	EA_	2	\$7,459.59	\$14,919.18	2	\$14,919.18	\$0.00
14	10X8 BOX CUT-OFF WALL	EA	1	\$1,092.40	\$1,092.40	1	\$1,092.40	\$0.00
15	CABLE CONCRETE, CC-45,POND OUTLET	SF	2,560	\$8.26	\$21,145.60	2560	\$21,145.60	\$0.00
16	CABLE CONCRETE, CC-45,CHANNEL	SF_	6,800	\$8.26	\$56 <u>,</u> 168.00	6800	\$56,168.00	\$0.00
17	TREE REMOVAL	LS	1	\$14,430.73	\$14 <u>,</u> 430.73	1	\$14,430.73	\$0.00
18	SEEDING, MULTCHING & FERTILIZER	ACRE	12	\$1,040.45	\$12 <u>,</u> 485.40	\$12.00	\$12,485.40	\$0.00
19	EROSION CONTROL	LS	1	\$3,520.75	\$3,520.75	1	\$3,520.75	\$0.00
20	PP-5 PERMANENT TURF REINFORCEMENT MATTING	SY	2,200	\$4.21	\$9,262.00	690	\$2,904.90	(\$6,357.10)
21	CONSTRUCTION SURVEYING	LS	1	\$7,280.45	\$ 7,280.45	1	\$7,280.45	\$0.00

LINE ITEM	DESCRIPTION	UNIT	CURRENT CONTRACT QUANTITY	UNIT PRICE	EXTENDED PRICE	ADJUSTED QUANTITY	ADJUSTED PRICE	PW113004 NET CHANGE
22	INCIDENTALS	LS	1	\$2,305.44	\$2,305.44	1	\$2,305.44	\$0.00
23	REMOVE & RESET BARB WIRE FENCE	LF	600	\$1.95	\$1,170.00	\$300.00	\$585.00	(\$585.00)
24	CONCRETE BOLLARD	EA	24	\$ 171.19	\$4,108.56	\$24.00	\$4,108.56	\$0.00
	TOTAL BASE BID				\$353,077.16		\$346,135.06	(\$6,942.10)
	SCHEDULE A						• • • •	
25	MOBILIZATION	LS	1	\$3,974.86	\$3,974.86	1.00	\$3,974.86	\$0.00
26	EROSION CONTROL	LS	1	\$1,274.18	\$1,274.18	1.00	\$1,274.18	\$0.00
27	CONSTRUCTION SURVEYING	LS	1	\$2,080.13	\$2,080.13	1.00	\$2,080.13	\$0.00
28	TREE REMOVAL	LS	1	\$7,662.16	\$7,662.16	1.00	\$7,662.16	\$0.00
29	INCIDENTALS	LS	1	\$855.64	\$855.64	1.00	\$855.64	\$0.00
30	SEEDING, MULTCHING & FERTILIZER	ACRE	6	\$1,040.46	\$6,242.76	6.00	\$6,242.76	\$0.00
31	STORM SEWER 36" RISER MATERIAL, CL 2	LF	16	\$79.84	\$1,277.44	16.00	\$1,277.44	\$0.00
32	SALVAGE TOP SOIL	CY	5,000	\$0.61	\$3,050.00	5,000.00	\$3,050.00	\$0.00
33	PLACE TOPSOIL	CY	5,000	\$1.02	\$5,100.00	5,000.00	\$5,100.00	\$0.00
34	OFF-SITE COMPACTED FILL	CY	45,000	\$0.62	\$27,900.00	45,000.00	\$27,900.00	\$0.00
35	UNCLASSIFIED EXCAVATION	CY	12,600	\$0.71	\$8,946.00	12,600.00	\$8,946.00	\$0.00
36	CHANNEL COMPACTED FILL	CY	1,800	\$0.62	\$1,116.00	1,800.00	\$1,116.00	\$0.00
37	SMALL POND EMBANKMENT COMPACTED FILL	CY	550	\$0.62	\$341.00	550.00	\$341.00	\$0.00
38	60" OUTLET STRUCTURE, SMALL POND, STAND PIPE	EA	1	\$2,536.79	\$2,536.79	1.00	\$2,536.79	\$0.00
39	OUTLET STRUCTURE, 36" CL3 RCP	LF	230	\$68.84	\$15,833.20	210.00	\$14,456.40	(\$1,376.80)
40	OUTLET STRUCTURE, TRASH RACK	ΕA	1	\$3,000.00	\$3,000.00	1.00	\$3,000.00	\$0.00
41	OUTLET STRUCTURE, 36" FLARE END,&TRASH RACK	EA	1	\$1,809.44	\$1,809.44	1.00	\$1,809.44	\$0.00
42	STORM SEWER 36", CL 2	LF	288	\$60.12	\$17,314.56	288.00	\$17,314.56	\$0.00
43	STORM SEWER 36", CL 3	LF	95	\$75.77	\$7,198.15	95.00	\$7,198.15	\$0.00

LINE ITEM	DESCRIPTION	UNIT	CURRENT CONTRACT QUANTITY	UNIT PRICE	EXTENDED PRICE	ADJUSTED QUANTITY	ADJUSTED PRICE	PW113004-03
44	STORM SEWER 36"X36" TEE (FOR RISER)	EA	1	\$1,786.77	\$ 1,78 <u>6</u> .77	1.00	\$1,786.77	\$0.00
45	STORM SEWER 36" 30 DEGREE BEND	EA	1	\$1,202.96	\$1,20 <u>2.9</u> 6	1,00	\$1,202.96	\$0.00
46	STORM SEWER 36" 7.5 DEGREE BEND	EA	1	\$ 228.55	\$228.55	1.00	\$228.55	\$0.00
47	SMALL POND, SAND SEEP COLLAR	EA	1	\$346.20	\$34 6.20	1.00	\$346.20	\$0.00
48	TYPE III RIP RAP	TON	111.28	\$31.19	\$3,470.82	111.28	\$3,470.82	\$0.00
49	NEEHAN R-792-HL	EA	2	\$588.21	\$1,176.42	2.00	\$1,176.42	\$0.00
50	REMOVE & RESET BARB WIRE FENCE	LF	200	\$1.95	\$390.00	100.00	\$195.00	(\$195.00)
51	CABLE CONCRETE, CC-35,CHANNEL	SF	576	\$8.26	\$4,757.76	576.00	\$4,757.7 6	\$0.00
	TOTAL SCHEDULE A				\$130,871.79		\$129,299.99	(\$1,571.80)
	TOTAL		\$483,948.95		\$475,435.05	(\$8,513.90)		

C.C.O. HISTORY INCREASE/(DECREASE)		PRIOR ADJUSTED CONTRACT PRICE :	\$483,948.95
CCO #1 CCO #2F	\$2,535.12 (\$8,513.90)	NET INCREASE/(DECREASE):	(\$8,513.90)
000 #21	(40,313.80)	ADJUSTED CONTRACT PRICE:	\$475,435.05
		CHANGE TO DATE:	(\$5,978.78)
CONTRACTOR:		DATE: //	117-04
ENGINEER: RICH WELLS, PE/LS		DATE: //	1-10-04
MAYOR:		DATE:	
FINANCE:		DATE:	
CONTRACT TIME CHANGE +/-: 0 NEW CONTR	ACT TIME: Days		

CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER #2F ARROWHEAD BASIN DETENTION POND, ELEMENT 302 - PROJECT NO. DR01-1126 NOVEMBER 4, 2004

PW113004-03

ORIGINAL CONTRACT AMOUNT: \$481,413.83 CONTRACTOR: LIND-EXCO

LINE		
ITEM	DESCRIPTION	REASON FOR CHANGE
	PP-5 PERMANENT TURF REINFORCEMENT	
20	MATTING	NORMAL CONSTRUCTION DEVIATION
23	REMOVE & RESET BARB WIRE FENCE	NORMAL CONSTRUCTION DEVIATION
39	OUTLET STRUCTURE, 36" CL3 RCP	NORMAL CONSTRUCTION DEVIATION
50	REMOVE & RESET BARB WIRE FENCE	NORMAL CONSTRUCTION DEVIATION

PREPARED BY: RICH WELLS DATE: NOVEMBER 4, 2004